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Name: __________________________________
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The solution set of the equation [image: image1.png]Jret o+




 is

2
What is the solution set for x in the equation below?
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3
Which equation has both 3 and 6 as roots?

	1)
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	2)
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What is the solution set of the equation [image: image7.png]


?

5
The solution set of the equation [image: image8.png]


 is

6
The solution set of the equation [image: image9.png]


 is

7
What is the solution set of the equation [image: image10.png]Jox+ 10 = x



?
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The solution set of the equation [image: image11.png]Jaxe 15 = x



 is

9
What is the solution set of [image: image12.png]Jax+ 21 = x



?
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What is the solution set of [image: image13.png]NET)




?
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The solution set for the equation [image: image14.png]


 is
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What is the solution set of [image: image15.png]
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The solution set for the equation [image: image16.png]


 is
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What is the solution set of the equation [image: image17.png]Jrel=x




?

15
For the equation [image: image18.png]


, the solution set is

16
The solution set of [image: image19.png]Jaxe16 = x+2



 is
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What is the solution set for the equation [image: image20.png]WJ5x429 = x4 3



?
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What is the solution set for [image: image21.png]Jrell 41=2
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What is the solution set of the equation [image: image22.png]


?

20
The solution set of the equation [image: image23.png]Jred=3-x



 is
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The solution set of the equation [image: image24.png]


 is

22
The equation [image: image25.png]NI




 has for its roots

23
The equation [image: image26.png]NETTY




 has

	1)
	4 and [image: image27.png]


 as solutions

	2)
	4 as its only solution

	3)
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 as its only solution

	4)
	no solutions
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The solution set for the equation [image: image29.png]2kt - 64




 is

25
What is the solution set of the equation [image: image30.png]y=2+a0y'-12



?

26
The value(s) of x that satisfy [image: image31.png]


 are


1
ANS:
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2
ANS:
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5
ANS:
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6
ANS:
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.  x = -2 is an extraneous solution.
REF:
080104b

7
ANS:
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.  x = -1 is an extraneous solution.
REF:
010305b

8
ANS:
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9
ANS:
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 is an extraneous solution.
REF:
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10
ANS:
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 is an extraneous solution.
REF:
012010aii

11
ANS:
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 is extraneous.
REF:
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12
ANS:
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010329siii

13
ANS:
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 is extraneous.
REF:
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14
ANS:
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15
ANS:
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16
ANS:
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 is an extraneous solution.
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ANS:
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 shows an extraneous solution.
REF:
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18
ANS:
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ANS:
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ANS:
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ANS:
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ANS:
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 is extraneous.
REF:
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